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Write set in Roster form A = {x : x: is ap integer and =3 < x < 7}.

2.}&4}:{1,2,3,4?5}aﬂxA:{l,s,S}ﬁrAarwmanﬁ@:
IfU = {1,234, '5} and A = {1, 3, 5} Then find compliment of A.

3. A A={1,2,3) @R B={xy} & A Y BT Faeil # Fen 7@ |

If A= {1, 2, 3} and B = {x, y}. find the number of relation from A to'B.
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IfG {7 8} and H = {5, 4, 2}. then find G x H'and H x G.
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Convert 3 radians in degrec.
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Find the value of tan -*T .
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Find tl_lp additive inverse of éomflei nufhber 1.
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8GR 4x + 3 < 6x + 7 F TARA 1
Solve iné:quality 4x '+l 3<Ox+Tp
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Find a, of the sequencc whose n't term are a_ *n(n+2)
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 Find the equation of line which satisfy the given conditions passing through the
point t (X} y}) with slope m.
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Find the centre and radius with circle (x — 3)? + (x — 4)2 = 49.
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: F_ind the general solution-of COSX =_£
/le quci"ﬂ?{UTx2+3x+9 0 & & HU 5

Solve the equatlon X2 +3X +9=0.
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Find the co-brdinates of foci, the vertices the length of the major and minor axis and
the eccentricity of the ellipse 36x? + 4y? = 144.
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4’7/1%&’@1%5 : sinz.ﬁlx.— sin®4x =%in2x sinl0x . - 3
. Prove that : sin%6x — sin24x = sin2x sin10x i}
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f(x) ﬂ.,‘ -1
Fmd the. Domam and Range of the real funcuon ;
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Conver; in Polar form 1+iv3°
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Find sum of n™ terms whose K".term is.(5K + 1). : ' ~

fereht ﬂUﬂTﬂ' ’ﬁ'@ﬁ ﬁkpﬁl'f, qfa'f'ﬂ?ﬂ'raf,‘,-'l?:{ A a, b, ¢ T @ fag FU T+ -

(Y]

a%r p"P. cP9=1-
If the p’h q”‘ and ' term of G.P. are a, b and ¢ prove that at™ b P =],
R sA(x, x +5); xe {0, 1, 2, 3, 4, Slgmwﬁﬂrﬁsaaaalzémanﬁmmﬁmw

If Relation R 1s defined R = {(x, x +5); xe {0, I, 2, 3, 4, 5}. then find domain and .
range of R. . a
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Pp}ove that for all integers n > |
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Solve the system of inequalities gmphically
x+y>5 X-y<3
25, ,ﬁm%@?mwwzm_ztw 10 = 0%3@@
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Equation of a line is 3x — 4y + 10 = 0 reduce into
(1) Slope inter;:e_pt'form' ' | (i) Intercept form..:
(x.+ 2y)° % TER F x0y3 B i 3@ 4
. Find the multiplier of x%3 in expenissions of (x + 2y)°.
%‘%@mmaﬁtf@wﬁﬁg( -4, 6, 10), (2, 4, 6) éﬂ"{(m 0, -2)
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U'sin:g %eétidx; fbrmlﬂa-, prove that three points (-4, 6, 10), (2, 4, 6) and (14, O =~2)
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Pnd the derivatives of cos x from first principle.

C At U=(1,234,56,7,8,9}, A_\{254 6, 8}, B = 63 5, 7}ahqmﬁmm’r
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(1) (AnB) =A'nB" (2) (ANB) =A"UB’

IfU={1,254506789),A={24638),B =123 37) then prove that

(i) (AnB) =A’NB" (ii) (Aﬁ'B)'=A’L{B'(
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